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[1] . .
1 2
d%V(t)+ V(t))=1 V(0)= 0 (1)
V(t)= W(t)+ C, (2)
, C : . (1)
O%W(t)+ W(t)>+ 2W(t)C+ C*= 1, W(0)=-C (3)
(3)
ftwi(zwr Wi(t)(Wer(t)+ 2C)+ C= 1, Wi(0)=- C (i= L2 ) (4)
(4
Witt) = (exp(- Pi(i))] (1= Cep(Pi )d - ], (s)
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Pi(1) = [;(ZC+ Wei( ))d

R(1)= iVi(t)+ Vi(t)?- 1

Wo(t) = Co,

Co . (5 (6) (8) _
2 2

Wi(t) = C—1+(Cm+(ggf%?F-N%C+(mU

¢ Co (2)(7)

Ri(t, C, Co) = Bzexp(— 2t(2C+ Co)) + Boexp(- t(2C+ Co)) + Bi,

_(C- D((C+ €Y= 1)

Bl = (2C+ Co)2
B, LCCox C’+ 1(Co+ 26Co+ 207 2)
(2C+ Co)
B, = (C*+ CCo+21)2
(2C+ Cy)

A

(€ Co)= lim R(t C Co)di

(10) , 2C+ Co> 0 .
2 2
o 12B1( B3+ 2B2)+ 8B2B3+ 3B3+ 6B:
(C, Co)= Bid+ 12(2C + Co)
A .
Bi= 0
. (15)
2 2
8B2B3+ 3B3+ 6B2
(€, Co) = 12(2C+ Co)
d
(11) (16) C, (12),(13),(17) 1Co = 0
Co= £666— 2, C=1

(18 (9 (5 (2

V()= 1- exp{_ @t]
B :
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22
Wit)=" |3, 7 (21)
Ce(t) = 1+ exp( %i) (2)
1 2 [1]
[1] [1]
, [1]
t
1.5 0.4 v
U I e ' O
l x’x 03f *IV,(:)-V,(:)IIX
> 0.2 ' ”
= Vile)} ,’
0.5} -+ ¥3(1) x
- V,(e) 0.1k "4
— ¥ () Y
M
0 1 2 3 4 5 0 1 2 3 .4-. 5
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1 2
2
x(ﬁU(x)+ Ulx) + (x)de(x)—O Ul) =1 (23)
U(x)= C+ W(x), (24)
(23)
(x+ W(x)+ C)y U(x)+ W(x)+ C= 0, W(l)=1-C (25)
()
iwi(xnf(x)wi(x) = - ((x), Wi(1)=1- C, (26)
S(x)=V(x+ W_i(x)+ C), cx+ Wi(x)+ C 0 (26)
* — Cexp( Pi
Wi(x) = (exp(- Pi(x))[ e e REE c], ()
1
Pi(x) = L Wi )+ Cd (28)
Ri(x) = x SUi(x) + Ulx)+ Ux) ili(x) ()

: Wo(x) = Cyq

(27)
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1+ C+ Co|l (1-x)C
Witx) = Ty Co{l+ C+ Cof - C] (30)
(24) (29 .,
[ Ci+ 1) (Cix+ Cl(Cl—l)—l)
R(x, C, Co) = R \ (31)
Cl= C+ Cj ,
C=0 (32)
] 2
OR(x,O, Co)dx = 0, (33)
2
Co= +_E22£ (34)
(30) (32) (34 (23),
U(x) — 2+ + J2 + ’ (35)
2x+  + ,/2 + 2
[1] :
Uf(x) = 1+ Jz[atan JZ}— atan[lx] (36)
[1] :
1 1 1
Un(x) = 7+ 3[;— F} (37)
21,
1
Ue(x) = _[ Jx2+ 2+ - x] (38)
3( =01) 4 =1) . . , [
5 X = O s s ’
8 3
- U(l) - U(.’)
7 :\ —+ (%) : [I?E:;
61« — ol . — 1 U(x) - U,(2)1
5 \ - {U(z)- U ()0 2r *‘i.‘_ = tU{x) - U, ()]
% % 1U(x) - U,(2)! ™
4 . ‘*N*
3 b
2
: k::::h&a;.-.;
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x x
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2
(%U(t)— Ut)+ U(t)*= 0, U0)= 1, (%U(O): b, (%)
U
du
. > = t(U) (40)
Jb2+ w- 1- g(us— 1)
Ult) , ,
() ,
d 2 2 2 5
dtU(t) = U(t) - 5 Ut)"+ C, (41)
. C (41)
Lol = civis ¢ o
U] = U+ C, (42)
Ci= 1- %C& (83)
Co U(t) , :C1> 0, (42)
Clexp(2 Jat)— C
Uct) = : (44)
2, [Crexp( [Ci1)
C Cr (39)
;
=01 =1
' [1] [1] [3]
00 10000 1 0000 1 0000 1000 0 1 0000 1 0000 1 0000
01 0943 0944 6 0 HU35 0940 0 0 A28 09352 09387
02 08973 0 8982 0 8966 08819 0 8913 0 861 8 08754
03 0 8582 08605 0880 082 3 0 8451 07813 08110
04 08278 08310 0875 07743 0 8040 06955 07460
05 0801 08095 0 8049 07265 0 7677 0 6066 06812
06 0787 07958 0 7901
07 07898 07830
08 07913 0 7836
09 0 800 6 0717
10 08173 0 8076
C= b= C, Ci= [Ci+ b (45)
(45) (39) , t= 0 , -
Ci=1-% (<25 (46)
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(J1=2 75+ b)exp(2 J1= 2 /51) = b*+ (1= 2 /5)

Ult) = 47
(1) 2 1= 2 /75( 1= 275+ b)exp( /1= 2 /51) (4)
1 (1] [3] ( [1], b=~ 06014), . [
[3] [1], (40) ,1> 035 )
s [3] = 1 ’ s s
2
[1] ,
[ ]
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Parameter Iteration Method for Solving Nonlinear Problem

LIN Jiang guo
(Institute of Marine Environment, Dalian Maritime University,

Dalian 116026, PR China)

Abstract: The parameter iteration method was developed for solving the nonlinear problem in this pa-
per. The results of several examples show that even the first iteration solution has very good accura-

cy.
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